EUROMEHANIKA TRANSMISSION E-mail: info@euromehanika.ru; Tenecor: +7 812 985 51 08; +7 (800) 600 99 10

UL » » AV A A

Matepuan: AnoOMUHUA

[vametp
oTBEpPCTUSA
Tun ApTukyn Harpyska| Harpyska ‘ Aseni il
OTBEPCTUS
I T

SC6WUU SC6WUUEMT 324 529 6 9 15 30 18 15 8 20 5 3,4 36 48 M4x8 0,062
SC8wWuUU SC8WUUEMT 410 800 8 1 17 34 22 18 6 24 5) 34 42 58 M4x8 0,094
SC10WUU  SC10WUUEMT 590 1080 10 13 20 40 26 21 8 28 6 43 46 68 M5x12 0,147
SC12WUU  SC12WUUEMT 650 1180 12 15 21 42 28 24 74 305 575 43 50 70 M5x12 0,220
SC13WUU  SC13WUUEMT 800 1540 13 15 22 44 30 24,5 8 33 55 43 50 75 M5x12 0,245
SC16WUU  SC16WUUEMT 1230 2340 16 19 25 50 385 325 9 36 7 4,3 60 85 M5x12 0,376
SC20WUU  SC20WUUEMT 1370 2740 20 21 27 54 41 35 11 40 7 5,2 70 96 M6x12 0,476
SC25WUU  SC25WUUEMT 1560 3120 25 26 38 76 515 41 12 54 11 6,8 100 130 M8x18 1,115
SC30WUU  SC30WUUEMT 2490 5480 30 30 39 78 59,5 49 15 58 10 6,8 110 140 M8x18 1,375
SC35WUU  SC35WUUEMT 2650 6260 35 34 45 90 68 54 18 70 10 6,8 120 155 M8x18 2,200
SC40WUU  SC40WUUEMT 3440 8020 40 40 51 102 78 62 20 80 11 86 140 175 M10x25 3,200
SC50WUU  SC50WUUEMT 6110 15860 50 52 61 122 102 80 24 100 11 86 160 215 M10x25 6,720

SC60WUU  SC60WUUEMT 7650 20000 60 58 66 132 114 94 30 108 12 10,7 180 240 M12x25 8,560


mailto:info@euromehanika.ru
tel:+78129855108
tel:+78006009910

